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General Instructions ; = 3y .

1. This Question Booklet has two Parts — Part-A andpm'ﬂ
9 S-gfeE F & wm mnawmsél

Part-A is of MCQ Type havi

Part-A s Thcre arr, 25 Multlple Choice Questions having four (4)
optlons (A B C & D). The candidate has o write the correct option
in the Ansuer Booklet. All questions are compulsory. Each question

carrics 1 mark. There is no negative marking for wrong answer.
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Part-B — There are three sections : Section-A,

- . swer, Short
This part is of Subjective Type having Very Short An

g Answer Type questions. Total number of quesutions

Answer & Lon

is 23.

Section-A — Qucsuon NOS. 26-34 are Very Short Answcr Typec.

Answer ady 7 questions. Each question carries

1 mark.

Section-B — Question Nos. 3542 arc Short Answer T‘ypc Answer

any 6 questions. Each question carries 3 marks.

Answer the questions in maximum 150 words each.

Section-C — Question Nos. 43-48 are Long Answer Type. Answer
any 4 questions. Each question carries 5 marks.

Answer the questions in maximum 250 words cach.
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6. Candidates are required to answer in their own words as far as

practicable.

wtamefl qemEe ot Wi # € 3w 3
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7. Candidate has to hand over his/her

mpulsorily before leaving the examination hall,
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8. Candidates can take away the Question Booklet after completion of

the Examination.
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Part-A
|qM-A
( Multiple Choice Type Questions )

. ( Tgfeda g )

Question Nos. 1 to 25 are Multiple Choice Type. Each question has four

options. Select the correct option and write it in the Answer Sheet. Each

. question carries 1 mark.

wmmﬂmlmmlmmu

1. C++ is developed by

(A)  Dennis Ritchie . (B) Ken Thompson

(C)  Martin Richard (D) Bjarne Stroustrup

W 12/10579
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c++ famfta foem @
@a) 3w ifagm @) ¥ A
() wiféa f=d g (D) =M BREI &
2. Execution of program starts rrom_
(A)  clrser () (B) main ()
(C) getch () (D) none of these
W w5 e A I B R
(A)  clrscr () (B) main ()
(C)  getch () D) T 9 34
™ 12/10579
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3.

Which of the following is not correct for keyword ?

(A)

(B)

(C)

(D)

Frafafee & S-m fiad S R g 2 o

(A) TR TH IWiEE v B

X8C-CMS-(OPT.)-SC

Itis a reserved word

It cannot be used as an identifier

Itis user-defined

None of these

CMS8
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(B) @ﬁm%mﬁmﬂﬁmwm

(€

(D)

TR ITATRAl qionia R

T @ B¢ 7
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4.  Void data type represents
(A) int data (B) float data
(C) double data (D) - none of these
IS B TR ... %! Tyridr 2l
W wsa (B) WIR e
@ swmza D) wE Q w

X=*++ty+2yevaluates (if y=6)

,

v '
N_(A) 18 "va/J/ ot

C
(C) 20 (D)  none of these

| m12/10579 ]
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x=++y+2ymm ........... %l('ﬂﬁyﬂﬁl
(A) 18 (B) 21
(C) 20

(D) A @ g

loop will be executed at least once even if the condition

1s false initially.

‘(A)  Do-while .

(B) While

(€ For (D) None of these

............... Emmﬁm@mﬁw&ﬁﬁmm,ﬂﬁ'@%ﬁmﬁ
SR TR | |

(A) {—méa o (B) e

C) Wi | (D) AW
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data types.

""""
ooooooooooo
.
LR

Array, structure, ©

()  Primitive

(D)  None of these
{C) Pointer

N, gy, FE, LA e 1 TN &
(A) T (B) F-fafifea
© =R D) TEa e

‘\a’ is used for

(A) New line * (B)  Audible bell

C
(C) Formfeed (D)  None of these

[ ®12/10579 |
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(A) D foerm (B) wifsae 3a &
(C) wnifhe & fore ‘(D}‘ i @ B T

9. Which of the following is not the concept of OOP ?
' (A)  Abstraction (B) . Encapsulation

(C) Class aﬁd object (D) None of these
ﬁﬁﬁf@aﬁﬁﬂ#-m oopﬁaqawn#ﬁf% ?
A) TR (B) THSHRIA

© wwshgiEw (D) FHAIRT
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10. Instance of a class is calle
(A) Function _AB) object
(C) Keyword (D) None of tilcse
T Ford I IGE oo Heardl -
A) e
(B) INietae
) @ |
(D) ¥ | =i T
11. -
Friend function is a
................. or a class'
N (A
(A)  member function
(C)

non-m
CmbC.r
function (D)
none
of the
sc
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$he B U FAM B ..., 2l

(A) WW B) ()

) AA-TRWbam D i A A T

Constructors

(A) are functions

(B). have no return type

(C) have the sa@e name as that of its class

(D) all of these

W 12/10579 13 / 31



CMS

c cns-OFT )-S€ ) Tmersy
xsC-

Fgd

G
G ¢ (B) i T
(A) <
[ ol
o wmszmmi O i ¥
tructor ?

13. Which of the following is incorrect for a des

(A) It has no return type

{B} It has I'I.D a]'gu_mEﬂt

G~ Itcan be overloaded

(D) None of these

[ m12/10579 | * it s
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(A)  FE B A9 ey gt

(B) TEHI B iz gt 3

(C) ¥ ol fr s war 2

(D) 0 A B 7

If a class X inherits from class Y, then Yis éallcd

(A)

(€)

Base class (B] Sub-class

Child class (D)

m 12/10579
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None of these
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(B) g -
(A) |q FE
(c) S T

15.

treated in a derived class as

\ L]
. (A) public +_(B) private

l\ -

e

(C) protected (D) none of these

TR 7Rt O 9 T ¥ TH qfede 821 Wl &l feUses ¥ %+
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17.

S

() Function

A varnablt‘:' that holds memory address is called

(B) Class

(C) Pointer
(D)  None of these

(A)  HEA | (B) @

(©) Eﬂ?ﬂ (D) wE A S T

. Which is an indirect operator among the following ?

(A & ® "

C .
(C) ~++ (D) None of these

frfofed o @ SH-91 3Ty AR & ?

A & - ® -
(C) ++ (D) ¥ @ Hs Tl
m 12/10579
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18. fstream class supports!
ion (B)
(A) Input operation
ion (D
(c) Input/ output operation (D)
{stream class @& H ?
() g R A B
(©) T / 3MeTge HRw A (D)
19,

{A] 10s: : in {B]

(C) ios::app \(DJ~
¥ AT §

{A] ios T tin {BJ

(C)  ios: -

| " (D)

“Qutput operation

None of these

los : : out

all of these

ios : : out

3 ma

CMS
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processing all the data el
20. -i€ments of a data structure is called

A)  Searchin N e
* & \ (B) Traversal

() Sorting (D) None of these
ﬁsﬁ‘é.a T 6 Wl 32 A B TR H e FEa |
€) @ifén D) T A & T
21. In a queue, deletion takes place at .....c......... end.
(A) front (B) rear
(C) middle (D) none of these

19 / 31
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network is calleq
ina
odes

2 'I'h tit’ fn
n 0
5- e

(BJ g ']‘opﬂlﬂgy
(A) Spam .
(D)  None of these
(C) Cookies .
' ... B ATAT )
; F¥AR .oenr ‘
F I
et Joas qgg
2 (B) et
(A) |
s () R
©

22 / 31



C
s
mﬁg_;__
Pal‘t-B ¢/Commerce
.

Answer any seven questions. 1x7=7
ferei wmar wet & s 2

26. When and by whom was C++ developed ?

C++ e 3 fpas gru 3uea foar m 2
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35.

36.

37.
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Section - B
gvg - B

( Short answer type questions )
(eg Il vy )
Answer any six questions. Answer the questions in a maximupy,

of 150 words each. 3x6=1g

]

= T % IW ) v T H I H 150 e %)

What is structure ? Explain by giving an example.

EHIU TR ? U IR T THITRT

How does a class enforce data-hiding, abstraction ang

encapsulation ?

@m%mﬁ,@wwﬁ@%@mﬁﬁmm% ?
Write any three characteristics of a destructor.

T B R A R R ¢

W 12/10579 26 / 31



39.  What

'S Stream ? Whye are the different Stream classes generally

used for Inpy¢ / Output ?

WW%?WWW/W%WWEﬁGﬂ?{W%

R A e |
40. .What are the vaﬁous data models available for database system ?
mﬂﬁm%mmuﬁﬁaéammi?
| 4l. Prepare a truth table for XYZ+ XY +XZ.
XYZ+ X7+ X2 % R o g0 e ot
42,

d WAN.
Briefly describe the difference between LAN, MAN an

A9, A9 3R 3 3 o F waw | Tl *H

| 27 / 31
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( Long answer type questions ,
(dwfiauw)
Answer any four questions. Answcf the questions in a :‘a’:imum
of 250 words each. | ' _ X% =29

%Wwﬁ%mélmlmaﬂmmzsomﬁil

of a customer wi
43. Declare a class to represent the bank account th

the following data members :

' nt.
Name of the depositor, Account number, Balance amou_

The class also contains xhcmbc:j functions to C_iO 'the following :
1) To input values for datg mcmbérs '
ii) To deposit money
iii)  To withdraw money

iv) To display the contents of all datg members

[ Note : Write 4 Complete program ]

Ll 12/10579 7
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wiafifte w0 ¥ fr
@Wuﬁﬁaﬁ

i "“'é“““‘“’mﬁw,ﬁwﬁx

T A Pt w0 3 o s o e 3
i) @a“ﬁ*-ﬁ?@mwm%m
1i) ‘ﬂ#ama;@%m
i) ¥ Pree ¥ R

iv)

“‘ﬁ@aﬂaﬁﬁ?ﬁmﬂ?ﬁﬂmﬁ%m

[T : T shom R

What is inheritance ? What are its different forms ? Explain any

one by giving suitable example,

T 7 R 2 W Fafm =1 w0 § 2 Soe ST AW B @ @
HHLATWI

a) Describe the similarities and differences between stack and

queue

b) Write an algorithm for PUSH operation.
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TREA ford |
p) g AR ¥ fg @

all by value and call by reference 5

-46. . What is the difference petween €

Give suitable examples for each.

ﬁrﬁamiﬁaﬁﬂamﬁm%?m%m%

Fergw 4ol

g a stack and show

47. Evaluate the following postfix expression usin

ch operation :

the contents of the stack after execution of ea

w

120, 45, 10, +, 25, 15, =, +

éﬁmmm-mmmanwmﬁ 3R TAF
S ¥ et & wg @ 1 wruft e -

120, 45, 10, +, 25, 15, =, +, *

m12/10579 30 7 31.
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F(A, B, ¢ D)=%(0,1,2,3,5,7,8,9, 10, 11, 13, 15)

a) S AgF o

b) xqmapwmm'mm@mm%m@m

F(A B CD)=%(0,1,2,3,5,7,8,9, 10, 11, 13, 15)
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